
155
[Translation J

Consumption of Fertilizers
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7274. SHRI HARSH VARDHAN:
SHRIRAMESHWAR PRASAD:

Will the Minister of AGRICULTURE be 
pleased to state:

(a) the State-wise consumptbn of major 
fertilizers per hectare during the last three 
years;

(b) the reasons for less consumption of 
fertilizers in Uttar Pradesh: and

(c) the measures being taken by Gov­
ernment in this regard?

THE MINISTER OF STATE IN THE 
DEPARTMENT OF AGRICULTURE AND 
COOPERATION IN THE MINISTRY OF 
AGRICULTURE (SHRI NITISH KUMAR):
(a) The State-wlse per hectare, oonsump' 
tion of fertilisers (N-i-P+K) during the last 3 
years is given in the statement below.

(b) and (c). Uttar Pradesh ranics 5th 
among 22 States in the country in terms of 
per hectare fertiliser consumption. The 4 
States having higher fertiliser consumption 
than Uttar Pradesh are Andhra Pradesh, 
Tamil Nadu. Haryana and Punjab. The fertil> 
iser consumption than Uttar Pradesh are 
Andhra Pradesh, Tamil Nadu, Haryana and 
Punjab. The fertiliser consumption in Uttar 
Pradesh is higher than the National average 
during the last 3 years. However, the State 
Government is tal<ing the necessary meas­
ures for fertiliser promotion to further in­
crease the consumption of fertilisers.
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